Disky and Sooma, two of the biggest mega minds of Bangladesh went to a far country. They ate, coded
and wandered around, even in their holidays. They passed several months in this way. But everything
has an end. A holy person, Munsiji came into their life. Munsiji took them to derby (horse racing).
Munsiji enjoyed the race, but as usual Disky and Sooma did their as usual task instead of passing some
romantic moments. They were thinking- in how many ways a race can finish! Who knows, maybe this
is their romance!

In a race there are n horses. You have to output the number of ways the race can finish. Note that,
more than one horse may get the same position. For example, 2 horses can finish in 3 ways.

1. Both first
2. horse; first and horses second

3. horses first and horse; second

Input

Input starts with an integer T' (< 1000), denoting the number of test cases. Each case starts with a
line containing an integer n (1 < n < 1000).

Output
For each case, print the case number and the number of ways the race can finish. The result can be
very large, print the result modulo 10056.

Sample Input
3

1
2
3

Sample Output

Case 1: 1
Case 2: 3
Case 3: 13



